

Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				-	Inc. DBA TSP	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	Underground Storage Tanks-Initial Term						
#1-1	Weekly Inspections	156	WK	\$1,285.00	\$200,460.00	\$1,390.00	\$216,840.00
#1-2	Monthly Inspections	36	MO	380.00	13,680.00	2,060.00	74,160.00
#1-3	Quarterly Inspections	12	QTR	550.00	6,600.00	4,841.00	58,092.00
#1-4	Annual Inspections	3	YR	5,150.00	15,450.00	11,124.00	33,372.00
#1-5	Triennial Inspections	1	TRI	23,660.00	23,660.00	8,000.00	8,000.00
#1-6	Reporting & Record Keeping	3	YR	42,500.00	127,500.00	34,000.00	102,000.00
#1-7	Operational Certificates - Class A/B Operator and Training	3	YR	6,300.00	18,900.00	23,880.00	71,640.00
#2-1	Hubbell Southfield	36	MO	125.00	4,500.00	350.00	12,600.00
2	Above Ground Storage Tanks-Monthly Inspections-Initia	l Term					
#2-2	Puritan Fenkell	36	МО	125.00	4,500.00	250.00	9,000.00
#2-3	7 Mile	36	MO	125.00	4,500.00	250.00	9,000.00
#2-4	St. Aubin	36	MO	125.00	4,500.00	250.00	9,000.00
#2-5	Leib	36	MO	125.00	4,500.00	250.00	9,000.00
#2-6	Conner-Creek	36	МО	125.00	4,500.00	350.00	12,600.00
#2-7	Belle Isle	36	МО	125.00	4,500.00	250.00	9,000.00
#2-8	Pumping Station #2 (D1)	36	МО	125.00	4,500.00	350.00	12,600.00
#2-9	Electrical Building EB-2 (D2)	36	МО	125.00	4,500.00	350.00	12,600.00
#2-10	Administration Building (D4)	36	MO	125.00	4,500.00	350.00	12,600.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision #:

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				TSP Services, Environ	Inc. DBA TSP imental	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#2-11	Primary Clarifier Area (D5)	36	MO	125.00	4,500.00	250.00	9,000.00
#2-12	Guard House – Copeland Ave. (D6)	36	МО	125.00	4,500.00	250.00	9,000.00
#2-13	Lake Huron	36	МО	225.00	8,100.00	200.00	7,200.00
#2-14	Northeast Water Plant	36	МО	225.00	8,100.00	200.00	7,200.00
#2-15	Southwest Water Plant	36	МО	225.00	8,100.00	200.00	7,200.00
#2-16	Springwells Plant	36	MO	225.00	8,100.00	200.00	7,200.00
#2-17	Water Works Park	36	MO	225.00	8,100.00	200.00	7,200.00
#2-18	Adams Road	36	MO	225.00	8,100.00	350.00	12,600.00
#2-19	Conners Creek	36	MO	225.00	8,100.00	350.00	12,600.00
#2-20	Franklin Station	36	MO	125.00	4,500.00	350.00	12,600.00
#2-21	Freud Station	36	MO	225.00	8,100.00	350.00	12,600.00
#2-22	Joy Rd Station	36	MO	225.00	8,100.00	350.00	12,600.00
#2-23	North Service Center	36	MO	225.00	8,100.00	350.00	12,600.00
#2-24	Schoolcraft Station	36	MO	225.00	8,100.00	350.00	12,600.00
#2-25	West Service Center	36	MO	225.00	8,100.00	350.00	12,600.00
#2-26	Wick Station	36	МО	225.00	8,100.00	350.00	12,600.00
#2-27	Bluehill	36	МО	225.00	8,100.00	350.00	12,600.00
#2-28	Lahser and Dolson Outfall	36	МО	125.00	4,500.00	250.00	9,000.00
#2-29	McNichols and Beaverland Outfall	36	МО	125.00	4,500.00	250.00	9,000.00
#2-30	Puritan and Rouge Outfall	36	MO	125.00	4,500.00	250.00	9,000.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				TSP Services, Inc. DBA TSP Environmental		Phoenix Environmental	
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#2-31	Lyndon and Bramel Outfall	36	МО	125.00	4,500.00	250.00	9,000.00
#2-32	Tireman and Trinity Outfall	36	MO	125.00	4,500.00	250.00	9,000.00
#2-33	West Chicago and Spinoza Outfall	36	MO	125.00	4,500.00	250.00	9,000.00
3	Above Ground Storage Tanks-Annual Inspections-Initial	Term					
#3-1	Hubbell Southfield	3	YR	125.00	375.00	550.00	1,650.00
#3-2	Puritan Fenkell	3	YR	105.00	315.00	550.00	1,650.00
#3-3	7 Mile	3	YR	105.00	315.00	550.00	1,650.00
#3-4	St. Aubin	3	YR	105.00	315.00	550.00	1,650.00
#3-5	Leib	3	YR	105.00	315.00	550.00	1,650.00
#3-6	Conner-Creek	3	YR	105.00	315.00	1,100.00	3,300.00
#3-7	Belle Isle	3	YR	105.00	315.00	550.00	1,650.00
#3-8	Pumping Station #2 (D1)	3	YR	105.00	315.00	1,100.00	3,300.00
#3-9	Electrical Building EB-2 (D2)	3	YR	105.00	315.00	1,100.00	3,300.00
#3-10	Administration Building (D4)	3	YR	105.00	315.00	1,100.00	3,300.00
#3-11	Primary Clarifier Area (D5)	3	YR	105.00	315.00	550.00	1,650.00
#3-12	Guard House – Copeland Ave. (D6)	3	YR	50.00	150.00	340.00	1,020.00
#3-13	Lake Huron	3	YR	185.00	555.00	550.00	1,650.00
#3-14	Northeast Water Plant	3	YR	185.00	555.00	550.00	1,650.00
#3-15	Southwest Water Plant	3	YR	185.00	555.00	550.00	1,650.00
#3-16	Springwells Plant	3	YR	185.00	555.00	550.00	1,650.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				TSP Services, Environ		Phoenix Environmental	
#	Item Description	Quantity	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#3-17	Water Works Park	Required 3	YR	185.00	555.00	550.00	1,650.00
#3-18	Adams Road	3	YR	185.00	555.00	950.00	2,850.00
#3-19	Conners Creek	3	YR	185.00	555.00	950.00	2,850.00
#3-20	Franklin Station	3	YR	125.00	375.00	950.00	2,850.00
#3-21	Freud Station	3	YR	185.00	555.00	950.00	2,850.00
#3-22	Joy Rd Station	3	YR	185.00	555.00	950.00	2,850.00
#3-23	North Service Center	3	YR	185.00	555.00	950.00	2,850.00
#3-24	Schoolcraft Station	3	YR	185.00	555.00	950.00	2,850.00
#3-25	West Service Center	3	YR	185.00	555.00	950.00	2,850.00
#3-26	Wick Station	3	YR	185.00	555.00	950.00	2,850.00
#3-27	Bluehill	3	YR	185.00	555.00	950.00	2,850.00
#3-28	Lahser and Dolson Outfall	3	YR	105.00	315.00	350.00	1,050.00
#3-29	McNichols and Beaverland Outfall	3	YR	105.00	315.00	350.00	1,050.00
#3-30	Puritan and Rouge Outfall	3	YR	105.00	315.00	350.00	1,050.00
#3-31	Lyndon and Bramel Outfall	3	YR	105.00	315.00	350.00	1,050.00
#3-32	Tireman and Trinity Outfall	3	YR	105.00	315.00	350.00	1,050.00
#3-33	West Chicago and Spinoza Outfall	3	YR	105.00	315.00	350.00	1,050.00
4	Site Visits-Initial Term		•				



Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

					Inc. DBA TSP imental	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#4-1	Site visits to diagnose fueling, alarms, and dispensing issues at any facility (includes services truck, technician, and 3 hours labor)	150	EA	450.00	67,500.00	555.00	83,250.00
5	Hourly Rates-Initial Term						
#5-1	Repair service labor rate during normal business hours (Normal business hours are 8:00 a.m. to 5:00 p.m. Monday – Friday)	3600	HR	125.00	450,000.00	135.00	486,000.00
#5-2	Repair service labor rate for Emergency/Overtime/Weekends- (Saturday & Sunday)	100	HR	185.00	18,500.00	165.00	16,500.00
#5-3	Repair service labor rate on Holidays (New Year's Day, Memorial Day, Independence Day, Labor Day, Thanksgiving Day, Day after Thanksgiving, and Christmas Day)	60	HR	185.00	11,100.00	195.00	11,700.00
6	Provisional Allowance-Initial Term						
#6-1	For parts, equipment, materials, & other Services for as-needed repairs, pricing per Exhibit B-1 (Amount to equal \$600,000.00)	1	Not To Exceed	600,000.00	600,000.00	600,000.00	600,000.00
7	Underground Storage Tanks-First Renewal Term						
#7-1	Weekly Inspections	52	WK	1,350.00	70,200.00	1,390.50	72,306.00
#7-2	Monthly Inspections	12	МО	400.00	4,800.00	2,060.00	24,720.00
#7-3	Quarterly Inspections	4	QTR	580 .00	2,320.00	4,841.00	19,364.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision #:

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				-	Inc. DBA TSP imental	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#7-4	Annual Inspections	3	YR	5,410.00	16,230.00	11,124.00	33,372.00
#7-5	Reporting and Record Keeping	3	YR	44,825.00	134,475.00	34,000.00	102,000.00
#7-6	Operational Certificates-Class A/B Operator and Training	3	YR	6,300.00	18,900.00	24,596.00	73,788.00
8	Above Ground Storage Tanks-Monthly Inspections-First	: Renewal Terr	n				
#8-1	Hubbell Southfield	12	МО	135.00	1,620.00	360.00	4,320.00
#8-2	Puritan Fenkell	12	MO	135.00	1,620.00	260.00	3,120.00
#8-3	7 Mile	12	MO	135.00	1,620.00	260.00	3,120.00
#8-4	St. Aubin	12	МО	135.00	1,620.00	260.00	3,120.00
#8-5	Leib	12	MO	135.00	1,620.00	260.00	3,120.00
#8-6	Conner-Creek	12	МО	135.00	1,620.00	360.00	4,320.00
#8-7	Belle Isle	12	MO	135.00	1,620.00	260.00	3,120.00
#8-8	Pumping Station #2 (D1)	12	MO	135.00	1,620.00	360.00	4,320.00
#8-9	Electrical Building EB-2 (D2)	12	MO	135.00	1,620.00	360.00	4,320.00
#8-10	Administration Building (D4)	12	MO	135.00	1,620.00	360.00	4,320.00
#8-11	Primary Clarifier Area (D5)	12	MO	135.00	1,620.00	260.00	3,120.00
#8-12	Guard House – Copeland Ave. (D6)	12	МО	135.00	1,620.00	260.00	3,120.00
#8-13	Lake Huron	12	МО	240.00	2,880.00	210.00	2,520.00
#8-14	Northeast Water Plant	12	МО	240.00	2,880.00	210.00	2,520.00
#8-15	Southwest Water Plant	12	MO	240.00	2,880.00	210.00	2,520.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision #:

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

					Inc. DBA TSP	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#8-16	Springwells Plant	12	MO	240.00	2,880.00	210.00	2,520.00
#8-17	Water Works Park	12	МО	240.00	2,880.00	210.00	2,520.00
#8-18	Adams Road	12	MO	240.00	2,880.00	360.00	4,320.00
#8-19	Conners Creek	12	МО	240.00	2,880.00	360.00	4,320.00
#8-20	Franklin Station	12	МО	135.00	1,620.00	360.00	4,320.00
#8-21	Freud Station	12	MO	240.00	2,880.00	360.00	4,320.00
#8-22	Joy Rd Station	12	МО	240.00	2,880.00	360.00	4,320.00
#8-23	North Service Center	12	MO	240.00	2,880.00	360.00	4,320.00
#8-24	Schoolcraft Station	12	МО	240.00	2,880.00	360.00	4,320.00
#8-25	West Service Center	12	МО	240.00	2,880.00	360.00	4,320.00
#8-26	Wick Station	12	MO	240.00	2,880.00	360.00	4,320.00
#8-27	Bluehill	12	МО	240.00	2,880.00	360.00	4,320.00
#8-28	Lahser and Dolson Outfall	12	MO	135.00	1,620.00	260.00	3,120.00
#8-29	McNichols and Beaverland Outfall	12	МО	135.00	1,620.00	260.00	3,120.00
#8-30	Puritan and Rouge Outfall	12	МО	135.00	1,620.00	260.00	3,120.00
#8-31	Lyndon and Bramel Outfall	12	MO	135.00	1,620.00	260.00	3,120.00
#8-32	Tireman and Trinity Outfall	12	МО	135.00	1,620.00	260.00	3,120.00
#8-33	West Chicago and Spinoza Outfall	12	МО	135.00	1,620.00	260.00	3,120.00
9	Above Ground Storage Tanks-Annual Inspections-First R	enewal Term				•	
#9-1	Hubbell Southfield	1	YR	135.00	135.00	565.00	565.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				TSP Services, Environ	Inc. DBA TSP	Phoenix En	vironmental
#	Item Description	Quantity	Unit of	Unit Cost	Extended	Unit Cost	Extended
		Required	Measure		Cost		Cost
#9-2	Puritan Fenkell	1	YR	110.00	110.00	565.00	565.00
#9-3	7 Mile	1	YR	110.00	110.00	565.00	565.00
#9-4	St. Aubin	1	YR	110.00	110.00	565.00	565.00
#9-5	Leib	1	YR	110.00	110.00	565.00	565.00
#9-6	Conner-Creek	1	YR	110.00	110.00	1,135.00	1,135.00
#9-7	Belle Isle	1	YR	110.00	110.00	565.00	565.00
#9-8	Pumping Station #2 (D1)	1	YR	110.00	110.00	1,135.00	1,135.00
#9-9	Electrical Building EB-2 (D2)	1	YR	110.00	110.00	1,135.00	1,135.00
#9-10	Administration Building (D4)	1	YR	110.00	110.00	1,135.00	1,135.00
#9-11	Primary Clarifier Area (D5)	1	YR	110.00	110.00	565.00	565.00
#9-12	Guard House – Copeland Ave. (D6)	1	YR	55.00	55.00	350.00	350.00
#9-13	Lake Huron	1	YR	195.00	195.00	565.00	565.00
#9-14	Northeast Water Plant	1	YR	195.00	195.00	565.00	565.00
#9-15	Southwest Water Plant	1	YR	195.00	195.00	565.00	565.00
#9-16	Springwells Plant	1	YR	195.00	195.00	565.00	565.00
#9-17	Water Works Park	1	YR	195.00	195.00	565.00	565.00
#9-18	Adams Road	1	YR	195.00	195.00	975.00	975.00
#9-19	Conners Creek	1	YR	195.00	195.00	975.00	975.00
#9-20	Franklin Station	1	YR	135.00	135.00	975.00	975.00
#9-21	Freud Station	1	YR	135.00	135.00	975.00	975.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				,	Inc. DBA TSP	Phoenix Environmental	
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#9-22	Joy Rd Station	1	YR	135.00	135.00	975.00	975.00
#9-23	North Service Center	1	YR	135.00	135.00	975.00	975.00
#9-24	Schoolcraft Station	1	YR	135.00	135.00	975.00	975.00
#9-25	West Service Center	1	YR	135.00	135.00	975.00	975.00
#9-26	Wick Station	1	YR	135.00	135.00	975.00	975.00
#9-27	Bluehill	1	YR	135.00	135.00	975.00	975.00
#9-28	Lahser and Dolson Outfall	1	YR	110.00	110.00	360.00	360.00
#9-29	McNichols and Beaverland Outfall	1	YR	110.00	110.00	360.00	360.00
#9-30	Puritan and Rouge Outfall	1	YR	110.00	110.00	360.00	360.00
#9-31	Lyndon and Bramel Outfall	1	YR	110.00	110.00	360.00	360.00
#9-32	Tireman and Trinity Outfall	1	YR	110.00	110.00	360.00	360.00
#9-33	West Chicago and Spinoza Outfall	1	YR	110.00	110.00	360.00	360.00
10	Site Visits-First Renewal Term						
#10-1	Site visits to diagnose fueling, alarms, and dispensing issues at any facility (Includes service truck, technician, and 3 hours labor)	50	Each	465.00	23,250.00	560.00	28,000.00
11	Hourly Rates-First Renewal Term						
#11-1	Repair service labor rate during normal business hours (Normal business hours are 8:00 a.m. to 5:00 p.m. Monday – Friday)	1200	HR	140.00	168,000.00	135.00	162,000.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				-	Inc. DBA TSP imental	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#11-2	Repair service labor rate for Emergency/Overtime/Weekends- (Saturday & Sunday)	100	HR	200.00	20,000.00	165.00	16,500.00
#11-3	Repair service labor rate on Holidays (New Year's Day, Memorial Day, Independence Day, Labor Day, Thanksgiving Day, Day after Thanksgiving, and Christmas Day)	20	HR	200.00	4,000.00	195.00	3,900.00
12	Provisional Allowance-First Renewal Term						
#12-1	For parts, equipment, materials, & other Services for as-needed repairs, pricing per Exhibit B-1 (Amount to equal \$200,000.00)	1	Not to Exceed	200,000.00	200,000.00	200,000.00	200,000.00
13	Underground Storage Tanks-Second Renewal Term						
#13-1	Weekly Inspections	52	WK	1,420.00	73,840.00	1,390.00	72,280.00
#13-2	Monthly Inspections	12	МО	420.00	5,040.00	2,060.00	24,720.00
#13-3	Quarterly Inspections	4	QTR	610.00	2,440.00	4,840.00	19,360.00
#13-4	Annual Inspections	3	YR	5,680.00	17,040.00	11,125.00	33,375.00
#13-5	Reporting and Record Keeping	3	YR	25,950.00	77,850.00	34,000.00	102,000.00
#13-6	Operational Certificates-Class A/B Operator and Training	3	YR	6,300.00	18,900.00	16,480.00	49,440.00
14	Above Ground Storage Tanks-Monthly Inspections-Second	nd Renewal T	erm				
#14-1	Hubbell Southfield	12	МО	145.00	1,740.00	275.00	3,300.00
#14-2	Puritan Fenkell	12	MO	145.00	1,740.00	265.00	3,180.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

					Inc. DBA TSP	Phoenix En	vironmental
#	Item Description	Quantity	Unit of	Unit Cost	Extended	Unit Cost	Extended
		Required	Measure		Cost		Cost
#14-3	7 Mile	12	MO	145.00	1,740.00	265.00	3,180.00
#14-4	St. Aubin	12	MO	145.00	1,740.00	265.00	3,180.00
#14-5	Leib	12	МО	145.00	1,740.00	265.00	3,180.00
#14-6	Conner-Creek	12	MO	145.00	1,740.00	375.00	4,500.00
#14-7	Belle Isle	12	MO	145.00	1,740.00	265.00	3,180.00
#14-8	Pumping Station #2 (D1)	12	MO	145.00	1,740.00	375.00	4,500.00
#14-9	Electrical Building EB-2 (D2)	12	MO	145.00	1,740.00	375.00	4,500.00
#14-10	Administration Building (D4)	12	MO	145.00	1,740.00	375.00	4,500.00
#14-11	Primary Clarifier Area (D5)	12	MO	145.00	1,740.00	265.00	3,180.00
#14-12	Guard House – Copeland Ave. (D6)	12	MO	145.00	1,740.00	265.00	3,180.00
#14-13	Lake Huron	12	MO	255.00	3,060.00	220.00	2,640.00
#14-14	Northeast Water Plant	12	MO	255.00	3,060.00	220.00	2,640.00
#14-15	Southwest Water Plant	12	MO	255.00	3,060.00	220.00	2,640.00
#14-16	Springwells Plant	12	MO	255.00	3,060.00	220.00	2,640.00
#14-17	Water Works Park	12	MO	255.00	3,060.00	220.00	2,640.00
#14-18	Adams Road	12	MO	255.00	3,060.00	375.00	4,500.00
#14-19	Conners Creek	12	МО	255.00	3,060.00	375.00	4,500.00
#14-20	Franklin Station	12	МО	145.00	1,740.00	375.00	4,500.00
#14-21	Freud Station	12	МО	255.00	3,060.00	375.00	4,500.00
#14-22	Joy Rd Station	12	МО	255.00	3,060.00	375.00	4,500.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				-	Inc. DBA TSP imental	Phoenix En	vironmental
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#14-23	North Service Center	12	MO	255.00	3,060.00	375.00	4,500.00
#14-24	Schoolcraft Station	12	МО	255.00	3,060.00	375.00	4,500.00
#14-25	West Service Center	12	MO	255.00	3,060.00	375.00	4,500.00
#14-26	Wick Station	12	MO	255.00	3,060.00	375.00	4,500.00
#14-27	Bluehill	12	МО	255.00	3,060.00	375.00	4,500.00
#14-28	Lahser and Dolson Outfall	12	MO	145.00	1,740.00	265.00	3,180.00
#14-29	McNichols and Beaverland Outfall	12	МО	145.00	1,740.00	265.00	3,180.00
#14-30	Puritan and Rouge Outfall	12	MO	145.00	1,740.00	265.00	3,180.00
#14-31	Lyndon and Bramel Outfall	12	MO	145.00	1,740.00	265.00	3,180.00
#14-32	Tireman and Trinity Outfall	12	МО	145.00	1,740.00	265.00	3,180.00
#14-33	West Chicago and Spinoza Outfall	12	MO	145.00	1,740.00	265.00	3,180.00
#15-1	Hubbell Southfield	1	YR	145.00	145.00	580.00	580.00
15	Above Ground Storage Tanks-Annual Inspections-Second	d Renewal Te	rm			•	
#15-2	Puritan Fenkell	1	YR	115.00	115.00	580.00	580.00
#15-3	7 Mile	1	YR	115.00	115.00	580.00	580.00
#15-4	St. Aubin	1	YR	115.00	115.00	580.00	580.00
#15-5	Leib	1	YR	115.00	115.00	580.00	580.00
#15-6	Conner-Creek	1	YR	115.00	115.00	1,170.00	1,170.00
#15-7	Belle Isle	1	YR	115.00	115.00	580.00	580.00
#15-8	Pumping Station #2 (D1)	1	YR	115.00	115.00	1,170.00	1,170.00



Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012 Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				TSP Services, Inc. DBA TSP Environmental		Phoenix Environmental	
#	Item Description	Quantity Required	Unit of Measure	Unit Cost	Extended Cost	Unit Cost	Extended Cost
#15-9	Electrical Building EB-2 (D2)	1	YR	115.00	115.00	1,170.00	1,170.00
#15-10	Administration Building (D4)	1	YR	115.00	115.00	1,170.00	1,170.00
#15-11	Primary Clarifier Area (D5)	1	YR	115.00	115.00	580.00	580.00
#15-12	Guard House – Copeland Ave. (D6)	1	YR	60.00	60.00	360.00	360.00
#15-13	Lake Huron	1	YR	205.00	205.00	565.00	565.00
#15-14	Northeast Water Plant	1	YR	205.00	205.00	565.00	565.00
#15-15	Southwest Water Plant	1	YR	205.00	205.00	565.00	565.00
#15-16	Springwells Plant	1	YR	205.00	205.00	565.00	565.00
#15-17	Water Works Park	1	YR	205.00	205.00	565.00	565.00
#15-18	Adams Road	1	YR	205.00	205.00	1,000.00	1,000.00
#15-19	Conners Creek	1	YR	205.00	205.00	1,000.00	1,000.00
#15-20	Franklin Station	1	YR	145.00	145.00	1,000.00	1,000.00
#15-21	Freud Station	1	YR	255.00	255.00	1,000.00	1,000.00
#15-22	Joy Rd Station	1	YR	255.00	255.00	1,000.00	1,000.00
#15-23	North Service Center	1	YR	255.00	255.00	1,000.00	1,000.00
#15-24	Schoolcraft Station	1	YR	255.00	255.00	1,000.00	1,000.00
#15-25	West Service Center	1	YR	255.00	255.00	1,000.00	1,000.00
#15-26	Wick Station	1	YR	255.00	255.00	1,000.00	1,000.00
#15-27	Bluehill	1	YR	255.00	255.00	1,000.00	1,000.00
#15-28	Lahser and Dolson Outfall	1	YR	115.00	115.00	370.00	370.00



Effective Date: Docum 7/1/2025 FSA_PR

Document #: Revision Date: FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

				TSP Services, Inc. DBA TSP Environmental		Phoenix En	vironmental
#	Item Description	Quantity	Unit of	Unit Cost	Extended	Unit Cost	Extended
		Required	Measure		Cost		Cost
#15-29	McNichols and Beaverland Outfall	1	YR	115.00	115.00	370.00	370.00
#15-30	Puritan and Rouge Outfall	1	YR	115.00	115.00	370.00	370.00
#15-31	Lyndon and Bramel Outfall	1	YR	115.00	115.00	370.00	370.00
#15-32	Tireman and Trinity Outfall	1	YR	115.00	115.00	370.00	370.00
#15-33	West Chicago and Spinoza Outfall	1	YR	115.00	115.00	370.00	370.00
16	Site Visits-Second Renewal Term	•	•			1	
#16-1	Site visits to diagnose fueling, alarms, and dispensing issues at any facility (Includes service truck, technician, and 3 hours labor)	50	Each	490.00	24,500.00	565.00	28,250.00
17	Hourly Rates-Second Renewal Term						
#17-1	Repair service labor rate during normal business hours (Normal business hours are 8:00 a.m. to 5:00 p.m. Monday – Friday)	1200	HR	150.00	180,000.00	135.00	162,000.00
#17-2	Repair service labor rate for Emergency/Overtime/Weekends- (Saturday & Sunday)	100	HR	210.00	21,000.00	165.00	16,500.00
#17-3	Repair service labor rate on Holidays (New Year's Day, Memorial Day, Independence Day, Labor Day, Thanksgiving Day, Day after Thanksgiving, and Christmas Day)	20	HR	210.00	4,200.00	195.00	3,900.00
18	Provisional Allowance-Second Renewal Term			<u>.</u>			



Effective Date: Document #: 7/1/2025 FSA_PRO_TPL

Revision Date: N/A

Revision#:

FSA_PRO_TPL_0012

0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Contract No./Title: REQ-0000030 – Fuel Tank Maintenance Services

Date: 5/1/2025

			TSP Services, Inc. DBA TSP Environmental		Phoenix Environmental		
#	Item Description	Quantity	Unit of	Unit Cost	Extended	Unit Cost	Extended
		Required	Measure		Cost		Cost
#18-1	For parts, equipment, materials, & other Services for	1	Not to	200,000.00	200,000.00	200,000.00	200,000.00
	as-needed repairs, pricing per Exhibit B-1 (Amount to equal \$200,000.00)		Exceed				
Total Co		Total Cost	\$3,209,750.00		\$3,906,674.00		

Approved: Tina Clinkscales